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Il Semester 3 Yrs. LL.B. Examination, April/May 2022 (Dec. 2021)
LAW OF TAXATION

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer all five questions.

2. Figures to the right indicate marks.

3. Answer should be written completely either in
English or Kannada.

UNIT = |

Q. No. 1. a) Define the term tax ? Explain the nature and characteristic
of different types of taxes. Marks : 10

oradRy T,/ HIF TS Bortod FRT TR
UBLINYRY DSON.

OR/ems

Explain the power of taxation under Constitution. Marks : 10

o3 RN, 3R NOWT BPTITIIY NTOX.

Q. No. 1. b) ‘Tax Avoidance'. Marks : 06
30 3RODT.
OR/ez=
‘Tax and Fees'. Marks : 06
‘3o SN WY,
UNIT - I

Q. No. 2. a) What is meant by capital gain ? When it will be termed as
short-term and long term capital gain ? Marks : 10

WOBTY CRPROTTER 7 VW BOFO ToNR DEPFFO
WOBY oyl 0T O3RN FTCDOBIIT ?

OR/&5m
% P.T.O.
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What are the various authorities and explain their p Marks : 10
under Income Tax Act.

2
ST 307t 703 BRHY, Wik VG BTN S0
OSTC QFTRY urj\ QTR

Q.-No.2. b) Mr. Goel, a manager of Iron Company has ‘,mdenlf :ﬁg
foreign tours on various occasions for company's wor the
was out of India for total number of 225 days ?Utf'“sgas 3
previous year ending 31-3-2018. He claims his statu : _
“non-resident for the Assessment year — 2018-19. Decide.  Marks : 6

0. RREODO) ‘DT 3003 3, FezoR), FomID FURT

=OrS TISS oing vy wodn HoEnd, SPEIOR,

N8 IRFS 31-3-2018 3 w9mn Wi 225 OINYITA e
tRUI00T Beorend. 33 vmab 13 SxF 2018-19 8

BATR €303 TSRS, WA

OR/eg=»

Mr. Sharma, a resident to India receives Rs. 6 lakhs from
Agricultural land situated in Australia. How this income is

treated under the Income Tax Act ? Marks : 6

<. ‘JRRF'R 0UZE s @UOR;O&)D!‘\C% eh;eémdgma
B GRDOVOT 6 oi dramomﬂvaig{ %@56905%3 ? K mww%
Saploveliclonyt CONDITRODS  Ferk TOReSRRNOYR 9

UNIT = 11|

Q. No. 3. a) Define C.G.S.T. and S.G.S.T. Ex

plain levy and collection
of G.S.T. on supply.

Marks : 10
.23. %%, 83, m&g R 23, %° .83, mg‘méam. Q‘pq’ﬁﬁ

A
ROWORATIOZ 3. 83. DY, ARAT o1 QBRQE DNV
RN, BI), DTOR.

OR/em=
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What is dual G.S.T. model ? Explain the salient features of

G.S.T. Marks : 10
Q0D 2. 0%°.83.BRTO 20TTeD) ? 8.7 .83, 0D T,@0D
maogmvmq QWOA.

Q. No. 3. b) Time of supply under G.S.T. Marks : 6

B.OFF 8. 0B, "o 38 Y3,
OR/e&gm
G.S.T.N. Portal. Marks : 6

B.0%°.83.0) 03O TVDJHL.

UNIT = IV

Q. No. 4. a) Define the term UTGST ? Explain the impact of GST on
state revenue. Marks : 10

0320.83.23.0%F . £3. DTN, T B0TO0DT 2ee3 23. F°. 3.0
wommms& RO,

OR/eg=»

Define the term securities, transactions tax ? Explain in brief
the exemptions on sale and purchase of Securities. Marks : 10

B53, SROD 30K TR, HEIAD D0 ) TR
Foe QWT DTV DTOR.

Q. No. 4. b) Integrated GST. Marks : 6
R003Re33 3.%°.83.
OR/es@=»

Demand and recovery under UTGST. Marks : 6
0300.83.23.20%°.83. BN eRE I RTOTBOIVDE.
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UNIT -V

Q. No. 5. a) Discuss the provisions relating to assessment of duties L
. No. 5. e
under Customs Act, 1962,

AR 0¥ OICH, 1962 8 wachE, X008 AGFOR Wi
B WTBWOFRIRY Wsr 20,
OR/em

Define the term warehouse. Explain the provisions for :
clearance of goods under Customs Act, 1962. Marks : 10

YO, 80 3 39,209, J8. e Roos BHADT, 1962 3 @01,
xdsom;s% BoYRRVZoRZ0 maqmnvs% WTOR.

Q. No. 5. b) Powers and functions

of Customs Authorities under Customs
Act, 1962.

Marks : 6
AR R0z BOADT, 1962 g BRADY  aezmH oz
ORTONT- 2050 S0 53?5571@0.

OR/esms

SEZ unit under Customs Act, 1962.

AT X038 GOV, 1962 3 esgy
PeIT.

Marks : 6
0D . 0 (). 3",
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